© RIVERDEERP, Inc.

Name Date

COURSE: MSCV

MODUIE 1: Essentials of Algebra

—  UNIT3: Simple Equations S‘ﬁ"ﬂ_ﬂ@ﬂ@[ﬂﬂ’
Simplifying Algebraic Logboolk
Expressions

As you work through the tutorial, complete the following statements and questions.

1. a. Dijit writes 2.5 as the fraction

b. W hen this fraction is substituted for 2.5 into the equation
34 + 2(2.5¢— 1) + 2[51(2.515 — 1) — 2] = 102, the resultis

2. what does the left side of the equation in Question 1b refer?

3. a. Simplify the expression 2(551,‘ - 1).

b. What does this expression represent?

4. a. Simplify the expression 2[,( 2t — 1) — 21.

b. What does this expression represent?

sion for the weight of all the machinery in the left part of the

cargo space.

b. W hat is the numerical value of this expression?

C. In the expression, substitute the appropriate decimal forg. __________

d. Simplify the expression.

e. Using this simplified expression, write the equation that describes the

weight on both sides of the cargo space.

f. Translate the expression into words.
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5. a. Using the simplified expressions you just produced, rewrite the expres- \.
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. Use the distributive property and

. Use your answer in (2) and
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Your

The distance in miles between New York City and Ies Angeles can be
expressed by the following equation where a represents the distance

between New York City and Chicago:
a + [(2il X a) + 58] + {4[(51 X a) + 58] — 241} = 2,856

. Rewrite the expression (51 X a) + 58 without using parentheses. ________

simplify the expression 4[(51 X a)
+ 58

Los AngeYes

simplify the expression
A[L( xa)+ 58 -241

. Using the simplified expressions in (1) and (3), rewrite the equation in

terms of a.

. Simplify the left side of the equation in (4) by combining like terms.

. Use the expression in (5) and rewrite the equation that represents the total

distance between New York City and Ios Angeles.
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